
Pos.:

Schubfeldnachweis
nach Kahlmeyer: „Stahlbau: Träger–Stützen–Verbindungen“, 3. Auflage, 1990, Werner Verlag

Geometrie:

hS= 260,0 mm
tS= 17,5 mm

hR= 450,0 mm
tR= 14,6 mm

tSteg= 10,0 mm

lx= 242,5 mm
lz= 435,4 mm

Schnittgrössen: (Bemessungswerte)

N1= 0,0 kN
Q1= 0,0 kN
M1= 50,0 kNm M1K= 50 kNm

N2= 0,0 kN
Q2= 0,0 kN
M2= -50,0 kNm M2K= -50 kNm

N3= 0,0 kN
Q3= 0,0 kN
M3= 50,0 kNm M3K= 50 kNm

N4= 0,0 kN
Q4= 0,0 kN
M4= -50,0 kNm M4K= -50 kNm
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Schubkräfte:

Fxz= Q4 + N1/2 + N3/2 + M1/lx + M3/lx
Fxz= 0,0 + 0,0 / 2 + 0,0 / 2 + 50,0 / 0,243 + 50,0 / 0,243
Fxz= 412,4 kN

Fzx= Q3 + N4/2 + N2/2 - M4/lz - M2/lz
Fzx= 0,0 + 0,0 / 2 + 0,0 / 2 - -50,0 / 0,435 - -50,0 / 0,435
Fzx= 229,7 kN

Schubfluss:

Txz = |Fxz| / lz = 412,4 / 0,4354 Txz = 947,1 kN/m
Tzx = |Fzx| / lx = 229,7 / 0,2425 Txz = 947,1 kN/m

max T = 947,1 kN/m

Mittlere Schubspannung: St37 τR,d = 126 N/mm²

τd = T / tSteg = 947,1 / 10,0 τd = 94,7 N/mm²
τd / τR,d = 94,7 / 126 = 0,752 < 1

Stegverstärkung: Nicht erforderlich. τw = 207 N/mm²

erf. tSteg = T / τR,d= 947 / 126 = 7,5 mm

erf. ∆tSteg = erf. tSteg - vorh. tSteg = -2,5 mm

erf. aw = τ · erf. ∆tSteg / τw = -1,5 mm


